HENMEZEANRBERERERONK

SHMTE7A3BRE
(Bfr: N)
BT+ £ (2] k=3 it HRETH A& (2] k=3 it
FEHTHRRX 93 94 187 |#RUSHET 3 2 5
FERERINX 85 89 174 |Z & HT 2 6 8
FEHTRER 95 82 177 | FERT 2 1 3
FTEhEEX 41 80 121 | B EARET 7 9 16
FEHEX 44 47 91
FEFHEEK 126 118 244 |+ L EB BT 5 6 11
FEmhat 484 510 994 |Z |LfT 1 4 5
#kFh 12 23 35 [#& 2 Sl 6 5 11
T 304 266 570 [ILIEXERET 12 15 27
WRIE T 293 358 651
el 6 13 19 |—=H] 4 5 9
AEE 31 35 66 |BE;RHT 1 1 2
WETH 256 224 480 | R AT 1 6 7
ﬁEﬁﬁ 36 44 80 |5 FHT 2 4 6
EET 24 23 47 | K+AHHET 2 3 5
B ETH 46 57 103 | K AT 2 1 3
kBT 75 106 181 | RAARET 12 20 32
E it 7 18 25
LFE 4 11 15 | KZ=HT 2 - 2
EEELn 131 103 234 |fHITEHT 1 3 4
At 177 218 395 [EIBERET 3 3 6
[ 3 9 12
HhE™ 70 70 140 |SEFA AT 1 2 3
A 87 91 178 [ZE#RET 1 2 3
INFHKH 92 94 186 [ATATET 49 67 116
REBFH 69 80 149
Bl 10 13 23 [BEt [ 2,685 | 2,881 | 5,566 |
[ At 48 46 94
EZZh 13 18 31 [BEREIXET 314 294 608
EEDi 7 11 18 %ﬂx 2 X 5T 308 286 594
SAEm 159 131 290 | iElREIRET 114 117 231
PnET 41 51 92 %.ﬁx TEAXET 276 313 589
Ay E™ 8 10 18 |BERFESXET 398 327 725
J\fith 5 11 16 %ﬂx S E6X ET 239 205 444
T 44 44 88 [ZBEREIRET 205 224 429
BHm 27 24 51 %uﬁ =E QX 5t 232 271 503
EE™ 20 15 35 .,a!*%ﬁglzé-- 162 248 410
BEEAT 12 21 33 .,;x ZI = 10X T 86 138 224
M EEH 1 8 9 |2 .,az fRE11XET 79 116 195
EWh 12 26 38 |BEITE12KE 88 123 211
WE T 8 10 18 [RERFE13XET 184 219 403
WF AT 3 12 15 [fJIITH5 X 239 196 435
KB EH 11 10 21 [HhH)IITh6 K 65 70 135
Gtk 2,636 2814 5,450 [MtEH4AX 276 313 589
fRtEmh 13X 17 45 62
AETH6X 174 135 309
SE A FEET 8 11 19 [MMFH7K 82 89 171
El 6 7 13 [#aH8 X 163 191 354
FNEEERET 14 18 32 [#ath13X 14 27 41
BZXET10X 4 4 8
EE 11X 2 1 3




